NIy ar  bMEEBREZT-

BHR

EENFEMRETE () OXEER

EH2—1




(BB ADTEFZERS)

i A

£ B R

25 ] | EH % 245 o PR
O U I AR OR B <MK > (RR)
%2 E fHBIOBERNCE T b EMAERTHE 3 [EAMR AR
[ARED/NEEHZ BT 2 ERTMRERRIE] [KIED/NERHZ BT 2 ERRAERE] /YRR R AR PR A D Fife
=
TE B D [ ke
INRFLERD e RE| £oAD0 B2 INRFLERT e mi#| £oA0 Bz INBRIER Eaeenrmi| £oA0 [Eees INRRLER (e ri| £0A0 [Eee
ErEisiE || E@msm) | 10BN | EEL ErEisiE || E@mmO) | 10BN | E=L ﬁ}ﬂg*;_g EE0 | (1050 | #Eie ﬁ;ﬂ.ﬂ% EMO0 | (1050 | sl
£ 106.2 16,937| 159.5| 1.000 ||s1%%5& 98.1 90 0.9] 1.015 2F 106.2 16,937 159.5| 1.000||s0& %5 97.9 90 09| 1.017
AR 89.2 924|  10.3[ 1.006 ||F=sw:t 73.9 46| 07 0.905 BAIR 89.2 924 103 1.006||m=mt 73.8] 46| 07 0907
BEE-RRPH 109.6 377| 3.1 1.096 ||m=mE 57.0 35| 0.6 0.977 EHE BETH 109.9 3771 31| 1.003||mE=mmm= 56.8] 35| 06| 0980
D 68.3 24 0.4| 0.814 ||B=A#HE 65.7 66 1.0| 0.963 s 68.3] 24 04| os15||E=AmnE 65.9 66 10| 0960
RIREE 105.2 90 0.7] 1.220 ||m=5a4LAp 64.1 2 0.1] 0.629 EREH 104.3 90 07| 1.231||E=satLm 64.7 2 0.1 0623
RIRFALD 82.2 52 0.7| 0.903 ||m=:Am# 78.7 69 1.0f 0.923 ERAEL 82.5 52 0.7| 0.901||E=:mrss 78.9 69 1.0[ 0920
Rkt 71.0 71 1.0| 0.978 BRI 71.0 71 10 0978
%2 E fHBIOBERNCE T b EMAERTHE 4 FEXIRE AT SO E T IR - FE R I R X DR E
[FERHZ I 1T D AR A AT BB IR - AH AR Al X ] [FEERHZ I T D FEXTH I A B E NI - Ao R Rl X k] [ENARL D22 5 D e
2 /J’L\'@f? Sr¥E 7E ¥} BE BT UM 7E FE AR NE A=z 2 /klgfg 5348 £ ) B B U 7E FE A5 N 4z
== 12.8 — =E 12.8 —
ZEE-ESRPER 16.6 48 ZEE-EIRHER 16.6 42
FEEREER 15.7 56 FESREEBR 15.7 50
H=:AIm&R 10.6 151 E =:AIma &k 10.6 145
# < B4 s> b3 ~ <
Eﬁmia%g . ﬁfu% 50 % 4B 10.2 160 *E““%ggﬁw* MEHE 10.2 154
Giz~1914n 7E = AR 0.9 173 76 = Al AR 9.9 167
pz=: 2514 9.8 176 SEER 9.8 170
78 =:Alde &R 9.4 186 785 =:AldE&B 9.4 180
FEsREEER 8.9 203 FEsRFEER 8.9 197
MMM MR [ s e an 72 245 AN EA LS | mikacas 7.2 239
7B = Al &R EE 71 247 78 = A aREE 71 241
(/YR I 1T 2 A Y 2= Al A BCERE R U - AR = Rl A X k] [/NVEREd 1T B FE Y = Bl D ECAE T U - AR = Rl A R X k] /NFURZE R RATE R O i
TEAE D Sk
) /}ﬁ(@{g 5>4E /N R ) B B TE HE A NI 152 2 /klif;f P I~ R F} BE Bl U TE TR AR NE 42
== 106.2 — == 106.2 —
8 3o B0 B= 5 40> 25 12 5% ZEE-EIRIER 109.6 99 16 B 10 2P = - AR h &R 109.9 o8
(1{3‘?«"225372137_) FESRER AR 105.2 121 sof B =em o 215 =R TER Toa3 123
AZBHE 98.1 156 25 97.9 155
EEETEER 82.2 223 EsEPRER 82.5 220
R =:aIEm &8 78.7 239 R =:AIFEmaB 78.9 231
78 =:aldb &B 73.9 252 78 =:alde &R 73.8 247
8 e [ B 21> 4 B sk FEsRAEAD 71.0 263 S B4 B A 20> 3% X dmk FEERLER 71.0 258
(208132 ~31113Z) R ER 68.3 270 (TF1{3£33.3%26) st5 ER 68.3 264
78 =:alFEEREE 65.7 278 iz Bt e 2 i) 65.9 272
R =:Aldc &R 64.1 283 R =:arde &R 64.7 275
8= A ERE 57.0 297 B = Al ERER 56.8 292




KHI%

LA S

o2&

TERI DRI T L ERT SR FHE

5 RAERIRILHERE %L

(1) PEERHTIST DARIER R A ERR AL

O  PERMRIERE L MEEAISE 592 AT, 2016 (FRk 28) 4 12 A 31 HE(E) OFERMERT
674 NL VD7l TEY, fFk (2023 F) ([T HHEFH oMt E, BIFEL V7 <

O  PERMRIERTFE L MEE SN L 597 AT, 2016 (Fpk 28) 4 12 A 31 HEIE) OFERMERN
674 NL D V7elpoTEY ., [k (2023 4F) (2B pHEGEH MM Eux, BAEL D D 7e<

E#RHE T — 2 OEHE DK
S

72 % AT, 72 % FaATx,
%) N (o) ERHRE T EE S S U0 B S M e
R 7ER y oerm oz | 4 P N ERHRER g x| D %3

ESE) - 11,349 791,796 888,464 = - 11,349 793,753 888,464

BB 592 674 52,226 57,162 ZHME 597 674 52,657 57,162

ZHE-BERLE 162 313 17,644 18,831 BHE-EBRFE 156 313 17,010 18,831

LR 14 17 1,535 1,778 AR 15 17 1,609 1,778

RIREL 32 56 3,465 3,787 RIREER 32 56 3,468 3,787

BT 34 36 3,693 4,145 EiRTEE 35 36 3,789 4,145

B 51 46 5,573 6,350 EiRALER 53 46 5,733 6,350

HE+E 26 32 2,786 3,060 HE+E 26 32 2,831 3,060

78 = L8 34 37 3,748 3,995 75 = AL A 36 37 3,959 3,995

A=A REHR 25 30 2,721 2,944 75 = A #R R 26 30 2,783 2,944

78 = AR AR T 60 49 6,531 7,020 75 = A AT 61 49 6,681 7,020

==L ER - 3 0 0 REAALER 0 3 0 0

B = AR 42 55 4,601 5,253 =i 44 55 4,822 5,253

%2 ® ERIOBREENCIT D ARG 5 mTExH R EMEE Afigk (2) /NEBHZIT 2 mAEx R UE = Ffi 3k
A (%) 4 e (5%) . (»25_%) A (BE) ” o (BE) ‘ (’j{%) E it — 2 O FE DK

- 16,937 14,473,629 15,951,158 1.000 2E - 16,937 14,473,629 15,951,158 1.000
947 904 952,906 1,029,166 1.006 BHIR 947 904 952,906 1,029,166 1.009
2EE-ERPE 276 368 293517 313,885 1.096 ZEE-BIEDL 272 368 293,517 313,885 1.084
27 24 38,161 43,750 0.814 BE 27 24 38,161 43,750 0.829
EIERE 68 85 64,303 69,829 1.220 IR 68 85 64,303 69,829 1.234
EIEFLD 51 53 64,522 70,502 0.903 EIRFELD 50| 53 64,522 70,502 0.905
E3RILER 78 71 90,553 102,507 0.978 Rkt 77 71 90,553 102,507 0.990
NEEE 74 85 83,756 90,668 1.015 NEEE 73 85 83,756 90,668 1.022
5 = 57 4L 56 52 45 65,303 69,095 0.905 75 = A 4L R 52 45 65,303 69,095 0.927
7 = A AR 52 37 61,302 63,625 0.977 7 = A 51 37 61,302 63,625 0.978
78 = A b T 82 64 97,822 103,622 0.963 7 = A E T 81 64 97,822 103,622 0.968
B LA 3 3 5172 5,976 0.629 R=A4LE 3 3 5,172 5,976 0.628
A 71 69 88,493 95,706 0.923 R=AmE 70 69 88,493 95,706 0.922




28 HEA ZE % 75 F P
AN RN fEOR G ()
51 E  [EAHECRET R 7  BREEEEE ERT D 2O ORER (2) 5%OFE R v EOMMONER
O IRBEENES = Ol B 57 8 2 fH 9 2 72 O O B B Br s O FE i 2% O JRPBTENHES = Oats 5 57 ) & fi# 14 7~ 5 72 8 O ) B BR 5L O F {55 RO
(FodlZ2 L) HIE U Z 3V TR 22 15 1 2 40 5 B BE S FE it 9~ 2 [ il D 55 B IRF [ JAfe | 2 [e) T 72 R &
7 BRI HIBY 21T\, B EOE X FUdEA i L T\ E4,
O [ERIA IS0 R O IR ENHS = OF AL « Ml A R T O LD
- EMENHMEIZES L T, EA IR OMHE EEEES IZ B\ TEMENHE 21T 5 7291
O [EMA IR R OFRBEENES = O L - MR FEEER MT D S E OYREICK LTIk 5 Z LI LY | EAIAEHURICE T 5 5
(Fed7a L) [EHFE D F AR H] DEEAFITE O F 5,
FoE ERoRERNCET B AR 2 AKREOER - NERERD ORI (3) 2WEEEOIRN
(Fidk7z L) O /NEBEEIE, REFREENPERE STV A4 HE - JRiETREEREE (368 A) ik | 1T OE RO
H < RWT, JRIERRERE (85 N) KOVMNERMAEREE L ¥ —ThHdHVEH/)
R EEFEREE X —DRERE SN WD EEERE (85 N) 3% <o TWET,
O EREEIL. KPFRFEEOREEEMNSFERE Y —DRESN TV AL EE - B | ME 1O R RO M B
SR E (313 N) . EIEEEEEAEE (56 A) . B I EEE (55 ). VSR | EAAHE
HPEERE (49 N) DIETEL o> TWET,
2= HRORERNCBT D ERTEL E 3 [ERNMRIEfEE (2) /WNEBHZRT 5 EMMRIEfE

[(AE D/ NEEHZ BT A ER R
O 2WwEREBETIE, 4dE - BRPEHERE (109.6), REFRMBERE (105.2) KOHME
YR RE (98.1) A, BAK (89.2) & EFI->TWET,

INERERH £ \A(0-148)
INRHEER [~ S
REigE |BELNRHE | NRMESY | FoAD | RELEREL | Apazns | sxssnm
CEON ) (105A) | Gepuesm | MNAERY | ABREK
2 106.2 16937 16937 159.5|  1.000 1.000 1.000
AR 89.2 924 904 103 1.006 0.991 1.002
LEEBETH 109.6 377 368 31 1.0 1.255 1.005
i 68.3 2 2 0.4 0814 0.571 0.921
EEEH 105.2 90 85 0.7] 1220 1612 1.092
EREH 82.2 52 53 0.7 0903 0.710 0.983
ERLH 71.0 1 71 10| 0978 0.891 1.015
SES) 98.1 90 85 09 1015 1.003 1.014
BT 739 46 45 0.7|  0.905 0.684 0.988
= AR 57.0 35 37 06| 0977 0.915 0.979
B = AR 65.7 66 64 10| 0.963 0.875 0.978
R=ALE 64.1 2 3 0.1 0629 0.002 0.865
H= A 18.1 69 69 10| 0923 0.659 1.015

[RED/NREHZ BT 5 ERRETERE]
O 2WEFEETIL, 4 5E - BIEPHERE (109.9), REERHERRE (104.3) ROHME
Y EREE (97.9) A, BRAK (89.2) & EFIoS>TWVWET,

‘ NEHERT FEHAD(0-148)

"%215? BELNRBE | MRHESR | FoAD | RECEREL | ApmEm | AkEERH

20N (ON] (10B.A) Mmrasmn | ARAERE | AREREK

2 106.2 16,037 16,937 159.5 1.000 1.000 1,000
EaR 89.2 924 904 103 1,006 0.991 1.002
LHE-BRDH 109.9 377 368 3.1 1003 1254 1.001
w5 6.3 24 24 0.4 0815 0.564 0.924
RERL 104.3 90 85 07 1.231 1506 1112
REEL 82.5 52 53 07 0.901 0.708 0.981
RELH 71.0 71 7 10 0978 0.884 1.016
NBLE 97.9 90 85 09 1017 1.007 1.016
‘= 734 46 45 07 0.907 0.691 0.988
E=ARRE 56.8| 35 37 06 0.980 0.916 0.983
B AR 65.9 66 64 10 0.960 0.872 0976
T=E 64.7 2 3 0.1 0.623 0.000 0.857
A 78.9 69 69 10 0.920 0.659 1.011

/R BT AR PR D e
TEAIE 0D 5 Bk




25 | 2 H 1 | 245 o B

28 EROBERHIET DIEMAERGTE 4 R DB ERT R - AR A B IR O R E (1) EEFHIISIT DARRIRYEERT D BB E T IR « FH B = Al D $ X de

548 EMEMmREEE | IER 4348 EREMRERE | B AE[ENANL D ZE 5 D [ R
2E 12.8 - 2 12.8 -
# R RIETE 16.6 48 £ H R IR 16.6 42
BIEES 15.7 56 IR 15.7 50
s Em L | 10.6 151 B B = SR 10.6 145
o ﬁ"_‘:ﬁﬁ) MBS 10.2 160 e MBS 10.2 154
75 = AR 9.9 173 7 = SRR 9.9 167
gt 9.8 176 g 9.8 170
75 = 4L 46 9.4 186 75 = AL 46 9.4 180
EIRFH 8.9 203 EIRF 8.9 197
RANERLHRS  emim 72 245 RRNESSHRE  [mmem 7.2 239
7 = A AT 7.1 247 7 = AR R 7.1 241
AR DOZRENT I 1T 2 Al AR F 4 FEXHAOEERT A ECERE T R - AR EE AR EL Xk D 3% E (2) /WNEBHZ I 2 AT B Al BOES B I IR+ FH Y 2= Rl 25 K
- — - — IR BHERT R R O e
n¥E INBF EARTEEE I 5z 548 INRF ERREEE {2 A O 5 e
2 106.2 - 2 106.2 -
R e L 109.6 99 A £ H R IR 109.9 98
DR EIREL 105.2 121 R EIRELD 104.3 123
(148 ~2074)
MEEE 98.1 156 MBLE 97.9 155
T 82.2 223 EIRTH 825 220
= AR 78.7 239 o = SR 78.9 231
75 = AL 46 73.9 252 75 = AL 56 73.8 247
A EmS KX EiRILER 71.0 263 AR E D 8K 5 EiRILER 71.0 258
(2084 ~3114%) oy 683 270 (F1233.3%) oy 68,3 264
7 = AR 65.7 278 7 = AR 65.9 272
=LA 64.1 283 B = AL 64.7 275
7 = AR 57.0 297 B = AR 56.8 292




28 B il

KHI%

LA S

28 ERIOBHENTIS T D E R CRFH

5 RAERIRILHERE %L

(1) PEERHTIST DARIER R A ERR AL

O ARIEOERHMRER R IENEEM$IL 592 AT, 2016 (CFRk 28) 412 H 31 HBIE) OER
EAf 674 NXL VD7 o TUWET,

O ARIEOFEFMRIELTREEMEEAEIL 597 AT, 2016 (R 28) 412 H 31 HBIE) OER
=fif 674 ALV D7 o TWVET,

E#RHE T — 2 OEHE DK
S

ERHREXN KR e Wt B R HE = ERMREER e St B R HE gl

J&E 1 Vs £ X o EERS A K 43 SE L 4N 3 g . =S ) 5

smiacors | Eh0 000 | ovsaams | TR wamacon |G| seoeems | G EERES
£ - 11,349 791,796 888,464 £E - 11,349 793,753 888,464
BAR 592 674 52,226 97,162 BEMR 597 674 52,657 57,162
BEE-ERPAR 162 313 17,644 18,831 AHE-BERPE 156 313 17,010 18,831
B 14 17 1,535 1,778 BED 15 17 1,609 1,778
RiRRED 32 56 3,465 3,787 EBIRWED 32 56 3,468 3,787
EIRFEED 34 36 3,693 4,145 EiRAHE 35 36 3,789 4,145
EiRILE 51 46 9,973 6,350 EiRLED 53 46 9,733 6,350
M4 E 26 32 2,786 3,060 MELXE 26 32 2,831 3,060
=LA 34 37 3,748 3,995 78 =L ER 36 37 3,959 3,995
F=AIEAR R 25 30 2,721 2,944 = AR ER R 26 30 2,783 2,944
BH=AEEE 60 49 6,531 7,020 7= AR AR e 61 49 6,681 7,020
BR=AALER - 3 0 0 BR=jaeEp 0 3 0 0
R=AmHE 42 55 4,601 5,253 R 44 55 4,822 5,253

B2 (ABIODHFHCE D EMMERE 5 (REXOLEERE  (2) NEFHCB % e R EE

&%) (&%) %) &%) (&%) %) ERPT — 5 DREDK
INBRURZES ] S AOE s @ T INERHRAES Y UNE=LS Il @4t L TR

£E - 16,937 14,473,629 15,951,158 1.000 £E - 16,937 14,473,629 15,951,158 1.000
EAMR 947 904 952,906 1,029,166 1.006 BHER 947 904 952,906 1,029,166 1.009
EHE-BRHE 276 368 293,517 313,885 1.096 BHE- Bk 272 368 293,517 313,885 1.084
BEp 27 24 38,161 43,750 0.814 AR 27 24 38,161 43,750 0.829
EIREAD 68 85 64,303 69,829 1.220 BIRFRAD 68 85 64,303 69,829 1.234
EiRAEE 51 53 64,522 70,502 0.903 EIREEED 50 53 64,522 70,502 0.905
EiRILED 78 71 90,553 102,507 0.978 BIRALER 77 a 90,553 102,507 0.990
MEXE 74 85 83,756 90,668 1.015 MELXE 13 85 83,756 90,668 1.022
A=A AR 52 45 65,303 69,095 0.905 F=IATAL AR 52 45 65,303 69,095 0.927
BRI RER R 52 37 61,302 63,625 0.977 BRI R 51 37 61,302 63,625 0.978
B=AIFAE 82 64 97,822 103,622 0.963 B=AIEAE 81 64 97,822 103,622 0.968
=LA 3 3 9,172 5,976 0.629 R=AAEE 3 3 9,172 5,976 0.628
BR=IAIEAD n 69 88,493 95,706 0.923 R 70 69 88,493 95,706 0.922




28 B il 2 HHE LA S
P8 DR
(Fedl7a L) [(AKXficdH 2 HEED S B, il - flEPSKE L b5 b O %2 55 R TERE L] At (R REED ik
HH
(FedfZe L) (AL % IS BIE T DI FE D2 Z E B 2 4] AHE (A% IREE OBk

EERAEFREE (RREFIR) OdREe (%)
PERHERMRETRR EEFIR) OdRE (%)
NEFHERMREREE FBERR) ORBL(K)
[ MR Jit i 1 S I T £k

PERFEERTEC (PERY - PEfm N} EE R
/NERHE RIS

G IR IR R St R AR

EERM DM « A mBE R 7 B R ] b

X ERRTEROZEIRME. & EOEMTEHEIBERTOARTRE

NIV w7 ars hOE
R ke




